General HSC Mathematics Study Cards

	Multistage Events - HSC Maths
	Multistage Events - HSC Maths

	What tool should you use if you have a multi-stage event?
	Why do you use a

Probability Tree?
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	Probability

Tree?
	To calculate the Sample Space.

	Multistage Events - HSC Maths
	Multistage Events - HSC Maths

	Probability Tree for tossing 2 coins.
	Calculating

Probabilities

Formula
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General HSC Mathematics Study Cards

	Multistage Events - HSC Maths
	Multistage Events - HSC Maths

	How many ways can ‘N’ objects be arranged
	Ordered Selection?
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	N!

= N x (N-1) x (N-2) x . . .

Example

3! = 3 x 2 x 1 = 6
	The objects chosen are placed in order.

	Multistage Events - HSC Maths
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	Calculating

Ordered Arrangements
	Unordered Selection?
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	Multiply the number of 1st choices by the number of 2nd choices and so on.

	The order of the selection is not important.


General HSC Mathematics Study Cards

	Multistage Events - HSC Maths
	Multistage Events - HSC Maths

	Calculating Unordered Arrangements

	What should we use if the outcomes  are not equally likely?
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	Number of Ordered Arrangements ÷ Ways the ordered selection can be arranged


	Use a

Probability Tree?
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	Probability tree for unequal outcomes.

(‘6’ or ‘not 6’ on a die rolled twice)
	Using probability trees to calculate probabilities
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	Multiply along branches.

Add branches together.
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